Baydy Karime Fuentes Amaro
What was the problem?In the morning a lord has to take the truck daily, but also the truck route the children are very loose and therefore always left the trucks late and caused the lord to be late to work, in his work the lord conditioned That if he arrived three times in the afternoon they were going to suspend three months.
As a step?The drivers of the route were very weak and always leaving after their appointed time.
How was it resolved?The lord has agreed with the other people who have also been the object of this problem and have come together to raise a complaint in the offices of the route.

What was the problem?A 15-year-old boy is very serious and therefore does not socialize so much and almost has no friends, there are times he becomes very sad about this situation and despair why he does not know what to do.
As a step?This happened thanks to which the boy did not integrate with his classmates and by that term alone,
How was it resolved?The child went with his teachers and the teachers realized integration dynamics for the child to integrate.

What was the problem?Two kids in a room did not get along because there were misunderstandings between them one day they said things and they grabbed each other.
As a step?The problem began when they started saying things, until one day he did not stand and they grabbed for blows.
How was it resolved?The teachers spoke with the two boys and agreed that they had to get along because they were co-workers.
Conclusion:My conclusion is that these problems can not happen to someone and there are times that are part of that problem but we do not realize it, and sometimes we bring to evil from time to time as well as what can happen to another person can pass A Oneself so it is good that whenever we are in front or even in this problem always do the good instead of contributing for the bad and the sea informing said situation or talking with the people of the problem to find a solution.



